

Grading scheme MT1-106

Q1)

$$a) F'(x) = 3x^2\sqrt{1+x^{12}} - 2\sqrt{1+16x^4} . \textbf{(1) + (1)}$$

$$b) \int \frac{dx}{x^{\frac{1}{3}}(2+3x^{\frac{2}{3}})^4} = \frac{1}{2} \int \frac{du}{u^4} = \frac{-1}{6\left(2+3x^{\frac{2}{3}}\right)^3} + C \quad \textbf{(2) + (1)}$$

$$c) \int_0^2 \sqrt{1+4x} dx = \frac{1}{6} \left[\left(1+4x\right)^{\frac{3}{2}} \right]_0^2 = \frac{13}{3} = 2\sqrt{1+4c} \\ \textbf{(2)}$$

$$\text{So } c = \frac{133}{144} \quad \textbf{(1)}$$

$$\text{Q2) a) } \int \frac{(2+e^{4x})}{8x+e^{4x}} dx = \frac{1}{4} \int \frac{du}{u} = \frac{1}{4} \ln |8x + e^{4x}| + C \\ \textbf{(2)+(1)}$$

$$b) y = \frac{(3x+1)^5(x^3+1)^{1/3}}{(1+x^2)^4 e^x}$$

$$\ln y = 5 \ln(3x+1) + \frac{1}{3} \ln(x^3+1) - 4 \ln(1+x^2) - x \\ \textbf{(1)}$$

$$\text{So } y' = \left(\frac{15}{3x+1} + \frac{x^2}{x^3+1} - \frac{8x}{1+x^2} - 1 \right) y \quad \textbf{(1)}$$

$$\text{d) } \int \frac{e^x \sin^{-1}(e^x)}{\sqrt{1-e^{2x}}} dx = \int u du = \frac{1}{2} (\sin^{-1} e^x)^2 + C$$

(2) +(1)

$$\text{Q3) a) } \int \frac{dx}{x\sqrt{x^8-16}} = \frac{1}{4} \int \frac{du}{u\sqrt{u^2-16}} = \frac{1}{16} \sec^{-1} \left(\frac{x^4}{4} \right) + C$$

(2) + (1)

$$\text{b) } \int \frac{x^2 dx}{\sqrt{4+x^6}} = \frac{1}{3} \int \frac{du}{\sqrt{4+u^2}} = \frac{1}{3} \sinh^{-1} \left(\frac{x^3}{2} \right) + C$$

(2) +(1)

$$\text{c) } \int \frac{\tan x}{\sqrt{9-(\cos x)^2}} dx = - \int \frac{du}{u\sqrt{9-u^2}} = \frac{1}{3} \operatorname{sech}^{-1} \left(\frac{|\cos x|}{3} \right) + C$$

(2) + (1)